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THE RESEARCH ABOUT THE BIGGEST STRENGTH ANG THE STABILITY OF AIM OF
THE ARCHER

Liu-ping Hung, Lin-chiao Chuan,& Chang-chia Tsz
Graduate Institute of Coaching Science, National College of Physical Education and Sports

Abstract

The major research objective was to discuss whether the waving space by archers’ hand with a bow is related
to the biggest strength. The objects of this research are seventeen senior high school archers with average height
171.7119.8 cm, average weight 67110 kg, and average age 16.1811.0 years old then average archery age is 3.21%
1.4 years, and average weight of the bow is 41.76£3.3 pounds each. Research procedures: The beginning is a test
of the light point flowing with the 70m target which every archer had to take and follow the final rules (4 turns x 2
arrows x 40seconds). First, locked a laser pen onto the screwed hole on the end of a bow, then usd a JVC digital
camera to capture the flowing track of the light point at the target. Second, recorded every archer’s biggest strength
computation to compile statistics by SPSS12.0 . Third, applyied sigmaplot8.0 to precede graphic analysis of linear
regression. Research calculation: The biggest strength computation and the waving space of the light point were not
obviously related (p>0.05). The biggest strength computation, the weight of the towing bow, and the lasting time of
the towing bow were obviously related (p<0.05). Research conclusion: Although the biggest strength didn’t affect
the stability of aim obviously, the waving space of the light point increased a lot during each testing turn. This means
that , human body felt tired after continuous high-beats loading. The function of muscle tissue and nerve tissue were
influenced by the continuous loading and the quick-recover, Then the stability of aim was affected. For the next step,
we suggested investigateing the staying power of muscle, the strength and the stability of aim.

Key words: the stability of aim, the biggest strength, the stability
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